Reaction Mechanism Examples
Example 1.
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Molecularity of each step?

What is the overall reaction?

     [image: image2.png]Step 1. Bry(g) + NO(g) —> Br,NO(q)
Step 2. BrzNO(g) + NO(g) —> 2 BrNO(g)

Overall Reaction:




If Step 1 is slow, what is the rate law?

Example 2.

[image: image3.png]Step 1. Unimolecular 03(g) — 02(g) +0(g)
Step 2. Bimolecular  Ox(g) + 0(g) —>204a)

Overall reaction: 2.05(g) —> 3 0y(g)





Example 3.

[image: image4.png]Elementary Step 1 Slow, rate- 2 N0,(g) — NO(g) + NO(a)
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Elementary Step 2 Fast. NO5(g) + C0(g) — NO(g) + COx(a)
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Overall Reaction NO(g) + CO(g) — NO(g) + CO,(g)












NO3 is an intermediate
Example 4.

Cl + O3 ( ClO + O2
ClO + O ( Cl + O2




Cl is a catalyst
